&¥H AENX7249—- F-@

( )#( )E &
KOG EME 2 E 0,
2 1 .o o4
@ -gz—-l=§~ ® 5% 2= 5
@ 3z-2=1 ® 3z+i=—12
88 5. 5
2 1
@ Fr—g=1 4 5 1
575 4 5_1
@ 37-6=%

®

|
@|~

b

=
wo| s

Il
w|en




(sl HFE & )
KOFBRAEME 2S00,
/?__éz-—l:é ® éxr P ,% )
{371 )=x g figx 1) W(-@;)
ixrg*jf( -6 = I
sEE-T o arig=yzd = 02722
41=|+J & Jx==45i =2
4x=T A Tx=14 —
2 =5 © o
| / 4
8- £) =8 bx+5)=5%(-3)
2 |
erxﬂex("—) 7 5+ 5%5, = 4
WES T p omrifERB | BZR4 L speps= 42l
24x= 7+5/) x=2 52 =-4~2 et
2x= L /52 = -6 M P
—
® %‘*65:1 o 4, 5_1
2 Y| 9@ ®
S(gx-7)=5x/ e 3 1
SxTISHL)= b 'fw?f‘; )=T8X%
51 -
= 'f‘w = 3 -3
2x ¥ j 212:52 T8K$] (‘6:)
2% = 5+ =3 g -__/5:3
2% =6 = . B
. 8¢ = 3415
8x =8
—%x+é=% SI:}_& = f8':3~=8'
2 =
(-Fxrd)=¥x g x =4
Tt B _9
bx(-z )t = /0 X =7
TTxe 8= gpsen- 2:61)
_7Z:IO'J r =
fx=2 f—i%




